WHOLE NUMBER OPERATIONS 1.1

The bar graph shows the attendance | A school lunch contains 12 chicken
at a 3-day art festival. nuggets. Ninety-five students buy the
Ve R L T lun-lch. What is the total number of
2SN o aso0— —— = chicken nuggets served?
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You make 24 equal payments for a go- | A 301-foot high swing at an
kart. You pay a total of $840. How amusement park can take 64 people
much is each paym%nt — CL\“ O\- \ tu%‘ on each rld.e. A total 0of 8983 p.eople
ride the swing today. All the rides are
/71 (v _ full except for the last ride. How
MV isoe -1 A\vided many rides are given? How many
people are on the last ride?
\10 W o RQ3 )< ok pep]
“NA G G v ‘iqgg on\Gs'\‘V'\&c
— L
0 SRA
b RN !
s ~2%Set  mwam
T ————
X 23 '
—Q
13
W\ e e
ST E BV e
ot e on *\ﬂa \0.5'

)

o

]



